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FNRALERTE ©  4Fip (WVIE)  « BBV (A EWIE) ; TERRI : Fn 748 5A 3R (4D
JEA BINE 4 il GROSS | HDCP | NET % JNERE BINE 4 il GROSS | HDCP | NET fi=Z
B IE 45 451 10.8| 34.2 51 fir | T3 {FF 52 52| 13.21 38.8
G 45 B Rk 46 46| 10.8| 35.2 52 {7 |HWEQ B 46 46 7.2] 38.8
{ip)| Tk BT 40 40 4.8] 352 53 4r |/ SR 45 45 6.0] 39.0
4 )| {E3 39 39 3.61 35.4 54 fir | T3 EF 45 45 6.0] 39.0
| B% BB 39 39| 3.6] 354 @ HAT % 50 50| 10.8| 39.2
L6 N ERE £ 45 45 9.6| 35.4 i | /i — 50 50| 10.8| 39.2
(7 ol P+ wE, 44 44 8.41 35.6 57 4 | B 5k 44 44 4.8] 39.2
(8 (| E& EE 43 43 7.2] 35.8 58 fi |#wAs WIAE 56 56| 16.8| 39.2
o (| THE E 37 37 1.2] 35.8 59 Or [W)I ¥— 43 43| 36| 39.4
_@%ﬁﬁ% BE 42 42 6.0/ 36.0 (60) fr [ AR £k 43 43| 3.6] 39.4
1L &R 41 41 4.8| 36,2 61 fir | % A& ¥ (M) 43 43 3.6| 39.4
12 47 | kpy I 46 46 9.6| 36.4 62 fir | BB H— 49 49 9.6| 39.4
13 47 |88 B = R 39 39 2.4| 36.6 63 gh JE— 48 48 8.4| 39.6
14 {ir |HEAs S Al 39 39 2.4 36.8 64 {7 |FKIL B s 48 48 8.4 39.6
A5 | S2m —Al 44 44 7.2 36.8 (65 g 22— 48 48 8.4 39.6
16 fir |[#F =¥ 42 42 4.8| 37.2 Z%ghg 48 48 8.4| 39.6
17 {r | #AE Fnak 48 48| 10.8] 37.2 fr |BPE fes 47 47 7.2] 39.8
18 fir | iA# wh 48 48| 10.8| 37.2 68 {ir | AR EMH& 47 47 7.2| 39.8
19 4 4% 2 53 53| 15.6| 37.4 69 {7 |EH H5 47 47 7.2| 39.8
20 {7 | R IE K 40 40| 2.4] 37,6 AT 47 47 7.2 39.8
21 fr |3mA & 40 40 2,4| 37.8 T1 {7 | BEjE AR 52 521 12.0] 40.0
(22) {7 | B_%1E 39 39 1.2 37.8 72 4 [Foh 46 46| 6.0] 40,0
23 { |k B 39 39 1.2] 37.8 73 {7 | W IEA 46 461  6.0| 40,0
24 {7 | EHn 3 45 45 7.2] 37.8 74 O7 |FTE _E(E 45 45 4,81 40.2
25 {7 | @A iz 45 45 7.2 318 (75047 45 45 4.8] 40,2
26 i | K 39 39 1.2 37.8 NG R LS L) 45 45 4.8| 40.2
27 fir [9)1 W3 44 44 6.0| 38.0 Ty | feme du 51 51| 10.8| 40.2
28 fr |BEE %IF 50 50| 12.0] 38.0 78 fir | Ny Tk 44 44 3.6] 40.4
29 i [t T 44 44 6.0] 38.0 79 4r | B Fnal 50 50 9.6 40.4
30 {0 |8 Ak 44 44 6.0| 38.0 (80 fir | H IR 2 50 50 9.6| 40.4
31 fr | EM FuA 44 44 6.0| 38.0 81 fir | LM 1#5E 50 50 9.6 40.4
32 fir | &M =M 50 50| 12.0f 38.0 82 fir [AZE 3L 43 43 2.4| 40.6
330 47 [ 4401 A 44 44 6.0] 38.0 83 fir | i —B 42 42 1.2| 40.8
34 fr |HF 44 44 6.0| 38.0 84 fir |FEW 1% 54 54| 13.2| 40.8
36 i |%EHE BB 43 43 4.8| 382 (85 {ir |Z= B Jil 53 53| 12.0] 41.0
36 {7 |MP HE 49 49| 10.8| 38.2 86 {v | B&)| B 53 53| 12.0| 41.0
37 {7 L/AHk HIS 55 55| 16.8| 382 87. 41 | LB EFRE 47 47 6.0 41.0
38 fi {9l A 49 49| 10.8| 38.2 (880 [ sh B BAE 45 45 3.6 41.4
39 {ir [4pM EFT 49 49| 10.8| 38.2 89 fir [k EC 57 57| 15.61 41.4
40 i | Ehiy TERI 43 43 4.8| 382 I AEE S 50 50 8.4 41.6
41 fir | Fl FEA S 36 36 +2.4| 38.4|BG 91 {ir | M A 41 411 +1.21 42,2
42 fy |MEM ¥E= 48 48 9.6| 38,4 92 fir | #rE) TE— 52 52 9.6! 42,4
43 {ir | HeRE J8 47 47 8.4| 386 93 fir |{E3 FEH 50 50 7,21 428
4 V=T 47 47 8.4]| 386 94 i |4 H# 48 48 4.8| 43.2
5 {7 {/NR 59 59| 20.4| 38.6 95 i | InpE = 53 53 9.6{ 43.4
46 { | EHE #R 47 47 8.4| 386 964 | B F IEdS 59 59| 15.6| 43.4
47 {7 | el 46 46 7.2 388 TS 58 , 581 14.4| 43.6
48 fir | #iF & 46 46| 7.2] 388 ﬁm s 51 51| 7.2 43.8
49 i | et s 58 58| 19.2| 38.8
50 47 |t B3 46 46 Tood 38,8




